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(D) (C) (8) (A) QUESTIONS Q-1
Uy Rty ihP7 ool St Qoo etddh bn e iAo B 1
All of these | Management Creditors Owners The financial information provided by an accounting system are needed by.

.y U,.I)ﬁ Ao P - c{)ﬂc}k‘ﬂ& u;/l)l’(:)[/.l» 2
Loan Transaction Business Account Any dealing between two persons or CONcerns is a
Apalbiiols | Ll S 2 iy LA Fe b2l Ak | 3

Accounts payable Cash and Capital Cash Expenses paid by a business decreases.
and capital capital
BuTosl ol 1 S NI, =l 2 Real account relates to: <t FeF| a
Expenses and Income Debtors . Creditors Assets
Z.,lc(uugic.ugi vaufﬂuf s (C‘H/ :u/..fl ﬂf( - Ulij'c{)dd}l,)/( 5
Magimum 2 accounts | At least 3 accounts | At least 2 accounts | At least 1 account | A business transaction affects:
=Flo (3)‘:: 19y 27l 7 by uﬁ;@uﬂ,}f 6
Trade Cash discount credit Cash purchases | No, separate entry is made for:
discount purchases
Daily ~1js/ Weekly 327 | Monthly <t Yearly, <UL~ |Journal means: N K.;'wu 7
‘.{Ji; J(f[ fi Sy - burslyr KJL}V(L? 8
Pass book Cash book Ledger Journat The King of all the books of accounts is:
SwotS | & IEa Ay 2 GO e b Bl o f LIS ¥ 7 s Ll 9
Cash Recc?na::?lz(ation Bank Income | The Periodical return sent by the bank to
Statement Statement statement Statement | customer.is called:
y sy LUl SN PN o[ A JEa | 10
Ledger Journai Pass book Cash book |Bank Recongiliation Statement is a part of:
Buyer/s/ Debtor s | Holder 26 GCreditorsl# 7/} | A bill of exchange-is drawn by: -« eSSk | 11
i il S PP & WENEY { - 2 B3| 12
Drawee Drawer Endorsee Bank Noting charges are the expense of:
2% 27015 27 QY GG e oo 8L U g SR | 13
Capital Profit Deferred Revenue Capital Any expenditure which benefits only the .
expenditure expenditure expenditure | current period is called:
o du LI &7 Gt Bk, P eikerl e | 14
Revenue loss | Capital loss Revenue Capital Wages paid on instalation of plant is:
expenditure expenditure
e e Lufuf Iy ;u@ﬂ 4.;;_(3//}U‘UM‘JVG‘>{ 15
Many Three Two accounts | One account | Error of Posting affects:
accounts accounts
DS o | oeElUe | osEdde | used e L Qe G S U e i L2 UBE S| 16
Compensating Errors of Errors of Errors of | The errors which cancel themselves out are
errors principles commission omission called:
AKISU | BAgmad A s e Sl el | 17
Carriage out Carriage in Rent Salary One of the direct expense is:
Wl | s Ay L2 Ut Lt lon femeean 1Lt Lt S | 18
Profit & Loss Account | Purchase account | Trading account | Balance sheet | Operating expenses are recorded in:
A sovet &al 1.7 | Expense &/ | Interest on capital is a business. sl Koy A | 19
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Answer briefly any Five parts from the followings:- 5x2=10 -Lg/_//"._-,uz /"?L 121 é&céfa S J:j o -2

What is meant by Proprietor? Tty e Floyglii)

What is effect of increase in expenses on capital?

e Y U (V)

What is meant by zero balance?
Give two examples of contra entry.

ek Lyl Lviii)

Mention two reasons of dishonour of a cheque.

Answer briefly any Five parts from the followings:-
What is meant by Payee.
Define bills of exchange.
What is meant by intangible Assets. give example.
Define balance sheet.
What is meant by Fixed Assets.
What is meant by Capital expenditure.
Explain the Term Revenue Profit.

What is meant by Errors of Commission.
Part 1X
Note: Attempt any three questions.

Q.4 Enter the following Transactions in Journal.

() On Janurary 01, 2016, started business with cash Rs 1,00,000/-

(i) On January 02, purchased office Furniture for cash Rs. 5000/-.

(i) On January 03, sold goods to Ibrahim Rs. 3000/.
(iv) On January 04, sold goods for cash Rs.10,000/-
(v) On January 05, Goods returned by Ibrahim Rs. 500/-

(vi) On January 10, goods given as charity. Rs. 2000/-

(vii) On January 15, cash withdrew by owner for personal use Rs. 1000/-

(vii) On January 20, received cash from lbrahim Rs. 3000/-
(iX) On January 30, paid Rent Rs. 5000/-.

{X) On January 31, commission received Rs. 2000/-

From the following particulars of Shahzad Imran prepare Bank

asa Reconciliation statement as on 30th June 2022.

() Balance as per cash Book debit Rs. 60000.

(i) Bank charges not recorded in Cash Book Rs. 200.
(i) Cheques issued but not presented for payment Rs. 10000.
(iv)  nterest on investment collected and credited by bank in pass Book only Rs. 2000.
(V) A cheque of Rs. 3000 received and deposited into bank but not recorded in cash book.
(vi)

A cheque of Rs 4000 received from customer but omitted to be sent to the bank.

Q.6 On 1st March 2021, Ali sold goods to Rizwan for
Rs. 1,00,000 on credit and draw a bill of exchange on

Rizwan for 3 months. It was accepted by Rizwan and
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" From the following trial balance of Farooq Trader's for the period ended on

31403-2017, prepare Trading and profit & loss account and balance sheet.

fé‘D </ —2-2

LivixP{ 2017643 e Fiistnl hidns =7
- /Jg éu"’i"ul:\f it 6‘ J/lf gl

Description Debit (Rs) | Credit (Rs)
Opening stock IR 50000
.| Purchases .. 80000
Debtors Al 12000
Furniture p 20000
Salaries ut¥ 7000
Insurance Gis 1000
Rent A 3500
Advertisement St /:'g 500
Sales return =35 5% 1000
Cash By 15500
Wages Sl 1200
Drawings uéb/. 500
Capital s 65200
Sales e3ped 110000
Purchase return  +7(5%s 1500
Creditors oSl 15000
Discount ecls 500
192200 192200

Adjustments:-
(i) Closing stock Rs. 42000
(ii) Prepaid Rent Rs. 500.
(iii) Wages payable Rs. 1000

(iv) Depreaction on Furniture @ 10% per annum.

Q.8 State with reasons whether the followings are capital or revenue expenditure.

(i) Paid for purchase of land.

(ii) Legal Expense incurred to get a debenture.
(iii) Bought furniture for office use.

(iv) Purchase of Patent rights.

(v) Amount spent on the uniform of the staff.
(vi) Purchase of Goods/Merchandise.
(vii) Carriage paid on the purchase of goods.
(viii) Paid legal charges for obtaining the loan.
(ix) Repair of furniture purchase second hand.
(x) Goods destroyed by fire.

Q.9 Rectify the following errors.

(i) Payment of advertising expenses Rs: 5000 was omitted to record in the books.

(ii) Wages Rs:15000 on installation of plant was debited to wages account.

(i) Sales retumed Rs: 3000 from Zain was credited to Hadi account.

(iv) Rs: 5000 withdrawn by the owner of the business was debited to salary account.
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(v) Repair of Machinery Rs: 7000 was wrongly debited to machinery account. Lo e L MgPe o“ L 7000??4 288 (v)
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